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ME308 RolING. : ceeeiiieinreannne
2018
MACHINE DESIGN
frif wma « di =) [HAftrmaa 3 : 70
Time allowed : Three Hours] . [Maximum Marks : 70
e () FEIRFIWITE
Note : Answer any Four questions.
(i) Xc9F F¥7 F T 77 H FHAR 0F Gre g7 FHord |
Solve all parts of a question consecutively together.
(iii) Ne9% 7 F1 79 98 I Fd |
Start each question on fresh page.
(iv) g1 5TaT3T 7 IR g #1 IR 7§ 3 sgEre & a8 1
Only English version is valid in case of difference in both the languages.
I. (i) 28 kN @@ & 28 kN udiga aw gfafda wig eovm gt #iex die $ sfiswern
HivE | g & ot HeEa & Qe v 2, Fes foRt T, wdften @ wda
FHE wheet FH: 50 N/mm2, 60 N/mm? @97 35 N/mm’ 2 |
Design cotter joint subjected to a load varying from 28 kN in tension to 28 kN in
compression. The material for all the components is steel with the allowable
stresses in tension. compression and shear as 50 N/mm-, 60 N/mm? and
35 N/mm? respectively. (12%)
(i) wioaer S5 w9 w6 Rt w1 v FiRE
Describe methods of reducing stress concentration. 5)
(10f2) P.T.O.
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T 8T & 1.25 mm =™ & dR § S 8 a7 5h Uy e 750 N/anm? 8 |
12.5 mmWWWMWWﬁW%MWW:

(a) vered & g T & gema wifes oite aun 3 gETd fagy

(b) T amfem aen uve uftesfoua wd gu o eard

(c) fom giwran
(d) R fie foes 3w wiiaa move fog @ s T 8t v

C =0.85 x 10° N/mm?2 it |

A spring is made from a wire 1.25 mm diameter and 750 N/mm? as its yield

strength. For a mean diameter 12.5 mm and 14 active coils of the spring,

determine :

(a) Static load corresponding to the yield point of the material and deflection
corresponding to that

(b) Solid length assuming that the ends are square and ground

(¢) Stiftness of spring

(d) Pitch of the wire so that the solid stress will not exceed the yield point

Take C = 0.85 x 10° N/mm?. (12%%)
B U diee § WRIO Niaacl & aHasd|

Explain initial stresses in screws and bolts. (5)
FTEY Ue wHie fhoie Siiel it srafra eifdn & simita awed &t awened |

Explain strength of transverse and parallel fillet joints in axial loading, (10)
T T % 93 v faft= e o aola Hif |

Describe different criteria for the selection of factor of safety. (7'2)

e T S94 3 TP &9 8 nfa vitee & fore srfimspean wen aaensd |

Explain design procedure for a shaft subjected to twisting and bending in

combination. . (12%)
farafin =1 aniiertor fop wepm fpn s 2 2 ._

How bearings are classitied ? (5)
T area < ford wgeh ol & ferd safirepeamn worw vy |

Explain design procedure for lever used for safety valve. (12%4)
ugref o T 3 FHHEG THE S 9UiA hHied |

Explain systematic approach for the selection of material. (5)
o 21z wr=fieft sufei & forg sifirepega wem awemsd |

Explain design procedure for pin type flexible coupling. (12'%%)
Qfe o Tt & ot feromoft forfigdt |

Write comment on the selection of rolling element bearing. (5)
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